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ARNEHFICHAIED
BIRE ROEEZE &K,
(1) 205° (2) 98’ (3) 73x67
* * *
2057 =(200+5)’ 98> =(100-2)’ 73x67=(70+3)(70-3)
2 2 2 2 =702 -3?
=200%+2x200x5+5 =100% —2x100x1+2
=40000+2000+25 =10000—-200+2 =4900-9
=42025 =9802 =4891
= 42025 % 9802 = 4891
ROFHEEE L.
(1) 102? (3) 1992
* *
1022 =(100+2)" =(100)° +2x100x 2 + 2 1992 =(200—1)° =(200)° —2x200x1+1*
=10000+400+4 =40000—400+1
—-10404 =39601
& 10404 & 39601
(2) 97° (4) 61x59
* *
97°=(100—3)* =(100)° —2x100x 3 + 32 61x59=(60+1)(60—1)
=10000-600+9 =602 -1
=9409 =3600-1
=3599
= 9409 & 3599




